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Candidates must write the Code on
the title page of the answer-book.
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fepam ST 1 10.15 99 @ 10.30 I qF BH FaA TA-UT Yl AR 3@ @y F IR o
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e Please check that this question paper contains 11 printed pages.

¢ Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

e Please check that this question paper contains 24 questions.
¢ Please write down the Serial Number of the question before attempting it.

¢ 15 minutes time has been allotted to read this question paper. The question paper will be
distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will read the
question paper only and will not write any answer on the answer-book during this period.
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ENTREPRENEURSHIP
et @a 3 : 3 52] [SEHTT 37 : 70
Time allowed : 3 hours | [ Maximum Marks : 70
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(viii) 99 G722 T 24 7% FE-307 d161 997 & T 97 &6 3 & |
(ix) ¥ & IO QI 3R GRITAIT 8T |
(x) T & 307 54 § Ugct 38 HHIF AT 9T o1 |

General Instructions :

(i)  All questions are compulsory.

(ii) Please check that this Question Paper contains 24 Questions.

(iii) Marks for each question are indicated against it.

(iv) Questions 1 to 5 are Very Short Answer type carrying 1 mark each.

(v)  Questions 6 to 10 are Short Answer-I Type questions carrying 2 marks each.
(vi) Questions 11 to 17 are Long Answer-I Type question carrying 3 marks each.
(vii) Questions 18 to 21 are Long Answer-II Type questions carrying 4 marks each.
(viii) Questions 22 to 24 are Essay Answer Type questions carrying 6 marks each.
(ix) Answer should be brief and to the point.

(x)  Please write down the serial number of the Question before attempting it.

1. “fasl T qA1 IAE Yo F 3R [T | 1

Distinguish between ‘Sales Tax’ and ‘Excise Duty’.

2. TSHIC ol 1 ¢ ? 1

What is meant by ‘Employment’ ?

3. fafus gateror = ot ifsw | 1

Give the meaning of ‘Legal Environment.’
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4. TE ITTHAT A 98 UichAT & T 5T Ueh ST foeR i Ush 3w B uRafad fohar s &
TSTaeRT anfoTfsaes goar &1 I” Ufshar st Ug ity | 1

‘It is the process of entrepreneurship which involves the translation of a useful idea

into an application which has commercial value.” Identify the process.

5. get foemEEAT | Ush TSR UTeh I[E AT Il © | 39 [T 50 ofRg $9 & e
SMEATIHAT TS | TH IUHT Tl et o folu Tget e fomdia T o 9weh o,

3Yhl A Idrsu | 1

Rahul wants to start an amusement park near Vishakhapattanam. This will require an
investment of ¥ 50 lakhs. Name the financial institution which Rahul should approach

for financing this venture.

6. A& FUR & e o (b=l I [Tl 1 Seoid ity | 2

State any two points of importance of ‘Goal Setting’.

7. Ve AN % ol & &9 1 CAn FuRer g qme FuRer @ e gt | 2

Give the meaning of ‘Routing” and ‘Scheduling’ as elements of operational plan.

8.  TIRS T TUI TqAT WIEH RIS o il o feIw Tpet o o1 70T X T Ueh HREHT I&
feram 1 3T % 2,00,000 W& Ferer f @24 % 10,00,000 T S & 0T fo1@m | 38 SR
FRT TR o TeTei &q STevae G Feel Sl fowga s o |

SIS § Irad AT A’ o W 3l Tgd ST 7o T e | 2

Gaurav started a factory for manufacturing bags for the students of nursery and
primary classes. He invested ¥ 2,00,000 of his own and obtained a loan of ¥ 10,00,000
from bank. He made the instruction plan describing the details that were needed for the

operation of machines by the workers.

Identify and explain the format of ‘business plan’ described in the above para.
98/1 3 [P.T.O.
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9.  ‘THHI TEIAT § TN Uh &H o ScAIS] ol Tea Y Hehd & a2l Wiaedfad & Icaer 9
THHT HE W BT Gohd & I’ 3T TURUN i TgH HIST a7 IHh aell ol Iooid
HIT | 2

With its help the consumers are able to identify the products of a firm and are also able
to differentiate them from those of the competitors. Identify the concept and state its

components.

10. 39 SAEEIEH SIS T A9 T4 TR ST 5798 599 @i i g Gifed eidr ¢ |
T WS & T8 WET &l U N [GT9ivdr 1 Seei@ Hity | 2

Name and define the form of business organization in which the liability of its

members is limited. State one more feature of this form of business organization.

1. “ARI-edr T § 1 NI & 2 30 [ohel O’ SUAIT 1 Sooid ShifsTT T Teh S0 off
T | 3

What is meant by “Problem Identification” ? State its any four uses and also give an

example.

12. T Ufese foud SAHar o Qe SToHT 1281 Sl 3Tl e o O T8 F 3O @ A
IR I 6T | 38 T 2,00,000 TSt & &9 H e fowar STt 3%k et 7 39 g & |
I A0 §g 9 U 9, S 9 A G2l H GEEd YaUs b B H i Hdl oA
% 1,00,000 1 07 feram | vgg a9 § 39 T 50,000 i &1 g8 I°1 39 U SMYfcaeharan i
e feredl b1 A AT BT | SHE ST W fomig ToeEr S Bl T8 ad1 39 a3
TERT 9 T 1,00,000 T 0T 30 TS i AT TRl T AT TST | IHH HicT Hedd el
I[& W, Jodi T HH {HAT 1 3T Uehi I 310 §RT Sl ST ool awga i ToTer &
ferorr & gier fopan | 5@ SRoT ST fosht § TR AT Seie’l & T 99T 384 g 99 T 75,000
T AW AT R |

(F) & FRT IR {HA T GHT & UHR H T BT |

(@) TI9T % 30 UHR Hi foheal U [EaRIoareti 1 Seeid HisTT | 3
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After passing his 12" class with entrepreneurship as an elective subject ‘Guru’ started
his own business. He invested I 2,00,000 as capital which was given to him by his
father. He obtained a loan of ¥ 1,00,000 from his elder brother Ravi, who was working
as an assistant manager in Bank of Baroda. In the first year he incurred a loss of
% 50,000 and had to pay to his suppliers their outstanding bills. This created a financial
problem for him and he had to take a loan of ¥ 1,00,000 from the Bank of Baroda on
the personal guarantee of his brother. He started doing hard work, lowered the prices
and informed his customers about the qualities of goods sold by him. Because of this

the sales increased four times and he earned a net profit of ¥ 75,000 in the second year.
(a) Identify the form of business organization started by “Guru”.

(b) State any five features of such a form of business organisation.

13. U ‘37 UGHMHUT o ATHT T Sooid HiteTy | 3

State the advantages of ‘Good Negotiations’.

14, Fafg= TRl & fole faf=T Uehr ol iHeRT M9 & HROT Ush Jok iR stelegereen | Hifia
& & AT a7 AT FaTe 2 IR ISR STURe™ € I 38 o % a9 | vt &
foTT P SR & Fewl o 9Hemsy | 3
‘For the smooth and orderly functioning of corporate sector in a free market economy,
stock exchanges are indispensable because of different roles played by them for
different groups.” Explain the importance of stock exchange to investors in the light of

this statement.

15. <<t Tl @R IEHE TRESH % Uh Feh! AN § | 31 W4, 2014 G g¢ a9 § g6
% 400 U HHIT S 5T 8,000 FHHST bl foIshl BT | S S TAT TS AT HA T AN I
2,000 Ufd ST & | Tieh bl T o AN T 500 Ui a9 & | S vt @R % ferw e
STISST AT Y TTUFET HITT | 3

‘The Fancy Store’ a readymade garments retail shop sold 8,000 shirts at ¥ 400 per shirt

during the year ended 31% March, 2014. Cost of placing an order and receiving goods
is ¥ 2,000 per order. Inventory holding cost is ¥ 500 per year. Calculate the ‘Economic
Order Quantity’ for “The Fancy Store’.
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16. =A1 W § THIEH FH % UvEl TEM SO a9 Y& HET drdal O | 3§
STeaatehedt H SUAN §H a6l 3TSTRI %1 SCAET e ! FiEl | 9 STHT o o 3 37NN &
SR H 3qh Al MR % FH ¥ 39 Gerddl Werlt | 3§% SER U9 3ieR
SIeArafchedsl I ARSI Pl URISAT & d TeArarhedl FA H, A9 TR g qr
YeAtafhedT & UTET Sog g o H WEES B | 39 YR % SARI H SUGHT halet
Toaepfae o & &€ fohar ST & e 9k fouu & gHe SEH war € | U SR 1 Sems
H F ToTT 5T TR ot STEwaehal Bl €, SHBT AR Tod S8 314k & T =41 Weifimest
% W 4T | Y My SFHEE & Savashdl € | dSig OST (@ e & forw Fee
et hiueed fafides o o1 T30, ST 9 UhR &l URESHIS i ford Suoted oxd & |
RS &1 fTeewor & o TvE TaH Hiuced fafee s ISt (Hie Hivee) TeH
L & oTT ewd &l 7 |
R forde STeer H IWIek aford STaeT o J1 STH USil fod 3l U e i T
ST 1 THSTT | 3

Naveen after completing his M. Tech in Nano Technology wanted to start his own
business. He thought to manufacture sophisticated instruments used in surgery. He
knew that his knowledge of Nano Technology will help him in manufacturing these
instruments. According to him such instruments will help the surgeons to operate upon
the patients with accuracy, with minimum blood loss and quick post operation
recovery. Such types of instruments are used in advanced countries only and there was
a risk in marketing the same. The cost price of machinery required, for manufacturing
such instruments was very high and more research was required in this field of Nano
Technology. For seed funding, Naveen approached. ‘Himani Capital Ltd.” who finance
such types of projects. ‘Himani Capitals Ltd.” after analysing the proposal agreed to
provide seed capital to Naveen.

Explain the different stages of ‘Early stage financing’ to seek venture capital finance
after the one discussed above.

17. @R AR e fafuds’ urr I o arelt JeiHT o (87T & | ST = U T8 U I e
I I o1 ferehrg ohaT &, ST 7 Sherel AR STl I el STel | Uiaicd el & At g
SUTErd SERREr T 31 THATEES eAstar Bl off IR & | AT 5 39 U 5 B B
T 1 AW et S0 @ € 5 faur % ferg 391 o o faskarett @bt e fmar ¥
FHEAT 7 A A A IE HIA Sl A Bl ST o6 I | UEHI Sl Frad H a2l 3¢
T TRIEH % o0 O 2 % FoI femhanati st artiera o fvar & |

(F) HEAT GRT TR TS Ve g AT T AT TATST T2l SHeh! T |

(@) HEA FRT STAN {6 T faraeor Arey w6 9w ot S | 3
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‘Pure Neer India Ltd.” is the manufacturers of water purifiers. The company has
developed a new water purifier that not only converts the hard water into soft water
but also kills the bacteria and other harmful micro organisms present in it. The
company has named this water purifier as ‘Nirmal Neer’ and for its marketing,
appointed salesmen throughout the country. The company also trained the salesmen to
provide information about the usefulness of the ‘Nirmal Neer’ water purifiers to the

customers and motivate them to buy the same.
(a) Name and explain the ‘type of promotion strategy’ adopted by the company.

(b)  Also identify the channel of distribution used by the company.

18. “UATEROT Y YW i & fo1w o faf=T A & Thid =6 ST Gebell & 1’ T fepeel =R S
H 3o FHIT | 4

‘Information for environmental scanning can be collected from several sources.” State

any four such sources.

19. 310 UHHM. H g ‘R vataemer et weer, ¥ R HH & uvE HHc e
TSV % fhAR STt o ST TiTel S Ielt 7T | 9 319 i S Hiecttel & foerd | IR
I ATl ot | T 3T Ueh WS ST el WS e i Wt Afeenrst B Wieww
3MER WX FHaet T 500 i XM T PTA FH O ST oY, ST 390! it /A ST | SHAe
1 AT o7 T 3qep Tie St G ATt et Uil ht T % folT Suge ot | 3T 39 T
TS % I Hl 37h Tl § T P [T90T o GRIRSH 71 Gerdar 9§ S g &
% o wicaTted fohar | g8 oft forg forar e foF Se, Ueish 98w Sl wOeT S TR 31X
3T TATEAT T ATel HEAET T TG 3T Jod U S ST @ gRT KA © F G
TEl o | e T T I29T A 31T A Tl T Tk I Bl Holl UG HEAT T |
AN & SR e % JaT ASh-ASIHAT o (1T HIAA & ANGYA H TH HHX b5 &
fopar T |

(@) 3T UIHAT I Tgd DT TG HHeT & foaR 1 3T § s5ei H Feradl @i |

(@) HEA FRT T T TS % YR Dl GgoH iy |
(M) T T2 <1 Yol 1 Sootd BT 576 It THTST i W T =Rt o | 4
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After doing her M.Com. from ‘Himachal Pradesh University of Shimla’, Komal went
back to her village in Kinnaur district of Himachal Pradesh. She wanted to contribute
for the development of women of her village, so she formed an organization, the
membership of which was open for all the women villagers on voluntary basis by
paying ¥ 500 only which will be treated as their capital. Komal knew that the land of
her village was suitable for the farming of medicinal plants. So she motivated the
members of her organizations for growing medicinal plants in their fields under the
guidance and help of the local agricultural department. It was also decided that the
organization will purchase the produce of each member and sell the same to drug
manufacturing companies, at a very good price which was not possible for the
members individually. The main objective of the organisation is to render services to

its members rather than to earn profit.

A computer training centre for young boys and girls of the village was started under

the guidance of Komal from the surplus of the profits.
(a) Name the process that helped Komal in developing an idea into an opportunity.
(b) Identify the kind of organization that was formed by Komal.

(c) State any two values which Komal wanted to communicate to the society.

20. A gfean fefee fafi=r emeR o SefifasmHi & fHar € | e guer o R W ufaEa

SIS ettt del i “TH-[aeg T i T0FT HiNTT 4
T :
ToAfas G2 Uid Sohre fasha T TS It HE S
STHR ] LIEERENIGRSI) AT
4 4 4
24" 5,000 2,000 4,000
32" 10,000 7,000 6,000
36" 15,000 12,000 8,000
42" 20,000 14,000 9,000
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‘Nomy India Ltd.” are the producers of different sizes of televisions. From the
information given below, calculate the ‘Break-Even Quantity’ of the T.V. sets
manufactured per month.

Informations :
Size of T.V. sets  Unit selling price Unit variable cost Fixed expenses per month

L4 4 4
24" 5,000 2,000 4,000
32" 10,000 7,000 6,000
36" 15,000 12,000 8,000
42" 20,000 14,000 9,000

21. Tumet 15 ot @ S)iq fatgee ®Ri % i & qor orr oy Afd R W & 1 e & |
TP NIt o SMYTehatan §RT AFafad 3mgfd % HROT HET TEehi Sl PRI B IS el BT
UTE | UMEehi ST Rt T8 T T A1 S b1 g HH g8 | IHh HRUT HRI I foishr =
AT | HHT 3T TE | SHEHT TG o HHRTS T [O9etsuT fohaT T2 37 J1 FHI I ST e
1 o o e SRoT gt 30 g ot | 39H ¥ US 9% ot S ST T IS h
MR T T&T off TAT T o8 ST <TART ot S B @ of | BT = 370 Weehi & fold 78
BT AN off STRY | T8 Hiodl o 3TET qA1 ST & &3 & WE FH & AT 200
SIS TTEoh-cTeiohal bt off 1ehal UX W@ ol Tuig foha o1 STy [l ol SUFRT et

TT qHE T 6T HEAT 4T |
@®) STH OUH 9 Jg e T B 3 STTURUNST i Ted Hivee, el =T SIRie
ATDT U H TR |

(@) UH UE God i Tga o i 50 Siq foties” TaT ot Uit T aed & | 4

‘Jagriti Ltd’ are the manufacturers of Cars for the last 15 years and was earning good
profits. Recently, due to the irregular supply of parts by the suppliers the company
could not make timely delivery of cars to its customers. The customers cancelled their
bookings and there were very few new bookings. As a result the sale of the cars
declined and also the profits. The management of the company analysed the problems
and decided to take over those two firms because of whom the problems arose. One of
them was supplying engines and the other tyres. The company also launched new
discount schemes for its customers. It also decided to employ 200 unemployed young
boys and girls to take up the cleaning operations using imported machines inside the
factories as well as the surrounding areas.

(a) Identify and state the concept of ‘Enterprise Marketing and Growth Strategies’
discussed in the above para.

(b) Identify any one value which ‘Jagriti Ltd” wanted to communicate to the society.
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22. TH% SN H SIEhAT ol foehiad ek “foreRl i sgcaf bl Wishar ol et ST ST Gehell &
TIT e 3T TIT Graurses 93 & & 9 H H i ¢ |

(F) SR Ul H Steciiad SR i Td Hiey |
(@) eI H TS TR & {ohel oI Bal ol GHSET T WA Uk STH §RT T

e | 6

‘The process of generation of ideas’ can be streamlined by developing an awareness

about it and these work as the convenient frames of references for this.
(a) Identify the concept stated in the above lines.

(b) Explain any three sources of the concept identified which are used by an

Entrepreneur.

23. O ET % AW H TIEE 7 AT TSR W T 25,00,000 T Hh Teh TR Tl | 38
% 10,00,000 T 3 ot fora @21 % 15,00,000 FT AT 56 T 6% M0k o 3T T 07 fomam |
ST HifgH I W T 17,00,000 T S T WA H AW 2 9,00,000 & | TE ST
FHHAET BT T 3,00,000 TG S HI A HLAT & | TR T 25% € |

! TSI & o Fefafaa & o A
(%) ow W vemE a9
(@) THAT W T | 6

Raj Singh has started a restaurant on a National Highway in the name of ‘Desi Dhaba’
by spending ¥ 25,00,000. He invested I 10,00,000 of his own and took a loan of
T 15,00,000 from Dena Bank, @ 6% per annum. His monthly sales revenue is
% 17,00,000 and cost of goods sold is ¥ 9,00,000. He pays monthly salary of
T 3,00,000 to his employees. The tax rate is 25%.

You are required to calculate :
(a) Return on Investment and
(b) Return on Equity for Raj Singh.
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24. AU SLEME. TSI U Ui TENT Bt F G HA o I9ET T A I W@ H &
fafiT=1 eTTehT | SR Y 3T M Gl | T THMT bt TheA I URT Bl 3T 370 5T &
fafir= o3l § 5 3% g @ieT & | SWH! FelaA T qod HH HAT, et Tor gy ot %

TS U A 37 TAT STATAT o Hehe §HIM Wiot i off | ST a5 &9 o1 I T fFar |
AR 38 A & f§9 Ufdied & @ai B T FA 6 o0 g Y FA0 &= o 370l
W | JHEAT % FHARET = Ueehi T FHH €A 52 201 30! Fea0r e aga afean o | 39
T[S TEEA o HRUT I TG 319 T & ol qAT ShT FeTd el & T |

SR 3T & MR W T % FIG H [Therdl o IR HRON Sl TgaH i q2r 3¢
HHART | 6

Raghav after doing his B. Pharma. degree from a reputed government college started
two chemist shops in two different localities of his home town. Encouraged with the
success of these shops, he started six more shops in different cities of the State. His
strategy was to cut price, focus on lower and middle class patients and open shops near
hospitals. He operated on very thin margins. But he was not able to maintain sufficient
funds to meet the day to day expenses of the business. The staff of the shops did not
give much attention to the customers and there was very poor system of control.
Because of this mismanagement he started incurring huge losses and his business

failed.

Based on the above para identify and explain any four causes of business failure of

Raghav.
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